eurofase

HEATING

Fire Rated
Drywall Box

Assembly Instructions for
EF39FRBE | EF61FRBE



Eurofase

HEATING

Parts/Contents:

EF39FRBE

Part A: Plywood/Drywall sidewalls x 2
Part B: Plywood/Drywall end walls x 1
Part C: Plywood/Drywall end walls x 1
Part D: Drywall top x1

« Junction box and cover plate x 1

* L-brackets x 4

» 5/8" screws x 12 (eight screws for L brackets — four screws for the junction box)
* 1 %" screws x 12 (all 12 screws for assembly of the side walls parts A,A,B,C)

* Assembly Instruction Manual x 1

EF6TFRBE

Part A: Plywood/Drywall sidewalls x 2
Part B: Plywood/Drywall end walls x 1
Part C: Plywood/Drywall end walls x 1
Part D: Drywall top x1

+ Junction box and cover plate x 1

* L-brackets x 6 for 61"

» 5/8" screws x 16 (12 screws for L brackets — four screws for the junction box)
1 %" screws x 12 (all 12 screws for assembly of the side walls parts A,A,B,C)

* Assembly Instruction Manual x 1

Fire Rated Drywall Box Assembly Instructions




Unpack Contents

Verify Components.

/ 17" \
// s ’ | \
/— : 4 \
[<] / / (8] ’r/ . \ \
| \
[ ° \
/ " %"' \
[ T Al \ — \
’j | A ‘ A | \ \ \ D \ \\
/ - ‘ “‘ | \
’! °‘ a“‘ \ \\
/ | | | \
/! ‘ “‘ \
/ | | \
/" | | \\
| | ‘
[ ‘ ‘\‘ \\\
/ ‘ | \
I |
Lo o o | \

Assemble box side walls (parts A, A, B, C) using
included 1 4" screws and pilot holes.




eurofase

HEATING

5 Place drywall top (part D) in place.

For 39" Drywall box: Place one L bracket on each corner.

For 61" Drywall box: Place one L bracket on each
corner and one on each of the long side.

Using the included 5/8” screws attach the L brackets
to the plywood side walls only. Do not screw the L
bracket into the drywall top.

Attach the included junction box to side wall
part C using the included 5/8" screws. Align

7 the punchout in the junction box with the
pre-drilled hole in part C.

EU ROfase eurofaseheating.com

HEATING



